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Collect and organize data
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Classify two-dimensional figures based on properties
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|dentify and describe parts of a circle {center, radius, diameter, chord) Example-2-ta 898
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Display measurement data as fractions of a unit and equivalent fractions on a line plot
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13 Solve problems of metric and imperial measures by using logical reasoning
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1a Analyze and interpret data in a line graph ({11-15) 818
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Find the mean of a set of data
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20 Use volume formulas to find the volume of rectangular prisms {3-8) 937
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Find the mean of a set of data (11.12) 838
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23 Describe the properties of three-dimensional shapes 2:5) 923
St A5 JELYI aileas Laaog
RS p: .d—ugi;g d&',ﬂr’ JL'I-IT‘ u.:ll: Jﬂ.:u JS da-’i i
2. "

o

L

e £ 9]

% 2 o /¢

\2_{0‘}5}]

U

w/”

T VIRV
( UA”}\
gr :w\},g\

S
Noz_o £, =<7 Y]
K scr‘)_)pf'\
\’z.FC»’)é\

_ \ -~ /j:—::v_ﬂ
AR el

24 A learning outcome from the SoW Undisclosed Undisclosed
55 A learning outcome from the SoW Undisclosed Undisclosed




